COEOUHUTENBbHBIE MY®PTbI

ANIOMUHUEBDBIE YITIOBbIE MY®TbI 90°

OR \
KO,EI TN A B C D El F G KonbueBoe BUHT Bec
YNIOTHEHWE
8KRGO001 | RG 26/12-3/8"BSP 3/8" 26 5,5 12 18 9,5 27 | 914,00x1,78 | M5x18 0,13
8KRG002 | RG 26/12-1/2"BSP 1/2" 26 5,5 12 18 9,5 27 | 914,00x1,78 | M5x18 0,12
8KRGO003 | RG 30/13,5 -3/8"BSP 3/8" 30 6,5 |13,5| 18 9,5 27 | 915,88x2,62 | M6x20 0,17
8KRG004 | RG 30/13,5 -1/2"BSP 1/2" 30 6,5 |13,5| 18 9,5 27 | 915,88x2,62 | M6x20 0,16
8KRGO0O05 | RG 40/20-1/2"BSP 1/2" 40 8,5 20 | 21 | 10,5 38 | 923,81x2,62 | M8x25 0,36
8KRGO006 | RG 40/20-3/4"BSP 3/4" 40 8,5 20 | 21 | 10,5 38 | 923,81x2,62 | M8x25 0,32
8KRGO007 | RG 40/23-3/4"BSP 3/4" 40 85 |235]| 21 | 105 38 | 25,12x1,78 | M8x25 0,29
8KRGO008 | RG 51/27-1"BSP 1" 51 [10,5| 27 27 | 13,5 47 | 931,42x2,62 | M10x30 0,7
8KRGO009 | RG 51/27-3/4" BSP 3/4" 51 [10,5| 27 27 | 13,5 47 | 931,42x2,62 | M10x30 0,7
8KRGO011 | RG 56/34-3/4" BSP 3/4" 56 [10,5| 34 | 27 | 13,5 47 | 937,77x2,62 | M10x30 0,72
8KRGO012 | RG 62/36-1"1/4 BSP 1"1/4| 62 |105]| 36 36 19 56 | 941,28x3,53 | M10x30 0,94
8KRGO015 | RG 62/36-1"1/4 BSP M12 1"1/4] 62 |125| 36 36 19 56 | 941,28x3,53 | M12x35 0,94
8KRG013 | RG 72,5/45-1"1/2 BSP 1"1/2 1725 |12,5] 45 | 38 16 58 | 249,20x3,53 | M12x35 1,23
8KRGO014 | RG 92/65-2" BSP 2 92 [125| 65 | 50 21 75 | ©69,85x3,53 | M12x40 1,65
. A
w
- -
Iy B
~ /Tf\k. ; N T
w7
— NA
B F
O :
NPAMbIE COEOAUHUTENBbHbLIE MY®TbI
OR \%
KoL T™n A B C D E F G KonbLesoe Bec
BuHT
YnnoTtHeHue
8KRDO001 | RD 26/12-3/8"BSP 3/8" 26 5,5 12 32 10 39 | 214,00x1,78 | M5x18 0,11
8KRD002 | RD 30/13,5-1/2"BSP 1/2" 30 6,5 | 13,5 | 40 10 44 | 915,88x2,62 | M6x20 0,14
8KRDO005 | RD 40/20-3/4"BSP 3/4" 40 8,5 20 | 42 12 51 | 923,81x2,62 | M8x25 0,3
8KRDO006 | RD 40/23,5-3/4"BSP 3/4" 40 8,5 [235 ] 42 12 51 | 25,12x1,78 | M8x25 0,29
8KRDO007 |RD 51/27-1"BSP 1" 51 [10,5| 27 | 43 12 68 | ©31,42x2,62 | M10x25 0,46
8KRDO008 | RD 56/34-1"1/4 BSP 1"1/4] 56 |10,5| 34 | 53 12 73 | 837,77x2,62 | M10x25 0,68
8KRDO009 | RD 62/36-1"1/4 BSP 1"1/4| 62 |10,5| 36 | 47 13 78 | 941,28x3,53 | M10x25 0,9
8KRDO010 |RD 72,5/45-1"1/2 BSP 1"1/2| 72,5 |125 | 45 | 49 14 89 | 249,20x3,53 | M12x30 1,05
8KRDO011 | RD 92/65-2"1/2 BSP 2"1/2| 92 |125| 65 | 60 18 114 | 269,85x3,53 | M12x40 1,15
F
/
T
ABAAS, A
A OR

o




COEOUHUTENBbHBIE MY®PTbI

ANOMUHUEBBIE KBAOPATHbBIE YITIOBbIE MY®TbI

OR \Y
Ko[n TAN A B C D E F G KonbLeBoe BUHT Bec
ynnoTHeHune
m o N°2 M6x20
8KRQO001 | RQ 30/12-3/8"BSP 3/8 30 6,5 12 19 11 41 215,88%x2,61 N°2 M6x35 0,29
" " N°2 M6x20
8KRQO002 [ RQ 30/12-1/2"BSP 1/2 30 6,5 12 19 11 41 215,88%2,62 N°2 M6x35 0,29
o o N°2 M6x20
8KRQO003 [ RQ 35/15 -3/8"BSP 3/8 35 6,5 15 18 11 40 218,72x2,62 N°2 M6x35 0,34
" " N°2 M6x20
8KRQO004 [ RQ 35/15 -1/2"BSP 1/2 35 6,5 15 18 11 40 218,72x2,62 N°2 M6x35 0,34
" " N°2 M6x25
8KRQOO05 [ RQ 40/20-1/2"BSP 1/2 40 6,5 20 24 10 45 922,22x2,62 N°2 M6x45 0,4
" " N°2 M6x25
8KRQO006 | RQ 40/20-3/4"BSP 3/4 40 6,5 20 24 10 45 922,22x2,62 N°2 M6x45 0,4
1 m N°2 M8x25
8KRQO007 [ RQ 55/25-3/4"BSP 3/4 55 8,5 25 35 13 54 229,75%x3,53 N°2 M8x60 0,45
" " N°2 M8x25
8KRQO008 | RQ 55/25-1" BSP 1 55 8,5 25 35 13 54 229,75%x3,53 N°2 M8x60 0,45
- A
7
—
o
| v
N
OR F
E
NMPAMbIE COEAUMHUTEJIbHbLIE MY®TbI
OR V
Koo TAN A B C D E F G KonbLeBoe Bec
BuHT
YnnoTHeHue
8KRDO003 | RD 35/15 (BH)-1/2"BSP 1/2" 35 6,5 14 35 10 40 | 218,72x2,62 | M6x20 0,15
8KRDO004 | RD 40/20 (BH)-3/4"BSP 3/4" 40 6,5 17 35 10 40 | 822,22x2,62 | M6x20 0,17

F

[

=

%,

[

75






